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CHOOSE THE CORRECT ANSWER OF THE FOLLOWING:

1.Which sector is the backbone of Indian economy?

FieT 819 R 3rcTaedr H g ¢
1) Service Sector

HEAT &79h
2) Financial Sector

ICGRRAECT

3) Tourism Sector

Wed &3%

4) Agriculture Sector
c’gﬁf SECT

2) Regulating body of rural Finance in India
ARG # JAT 9 b [fagaa [

1) -5

FRAT Rad 9
2) NABARD

CICIES
3) RRB

& ITHIOT S

4) Cooperative bank

TEhr 5



3.Full form of APP

APP &l el B

o
1) Agricultural price policy

¥ Ao A
2) agriculture price program
N HoT FAFA
3) audio price policy
HifsaAr Hea Afa
4) all of them
sH O T
4 .Consider the following statement and identify the right
fArfaf@d o ¥ fFar i 3R G Hr ggareT H

1.The APP aims at providing assured price to the farmers.

T T 3eced fohdrel @l AT Hod Yered e gl

ii) It aims at inducing farmers to bring in their surplus produced to the market.

SHH 36427 fhamel &l d6R & 3cdiied 3ada Y # o & fov 9k & gl
1) | only
Fae |
2) II‘)nIy
hdel I
3) Both
arer
4) None of these
SAH H HIS A8l
5.Agricultural marketing refers to the produce produced by farmers

S fAYU @ AT I GaRT cqTfed ITafeh!

1) order of objects.



TEGHT & FA I E
2) sale of goods.
TE3T & fowa @ B
% Both 3tk 2
a=r 1 3R 2 &
4) NONE OF THEM
forely & ot 77T €

6. Which of the following tasks is not included under agricultural marketing?
Y AU & Iediid HeATai@d & & @i - gehrd FFATIT e B

1) Aggregation of agricultural produce.
Y IUSTRT Tehal 0T
2).Division of agricultural commodities.
FN qEI3T 1 fFeTSIeT |
3) The study of agricultural commodities.
HY a3 FT fdeTgeT |
4) neither of the above.
IWFT # q HIs A
7) The first Government Marketing Committee was established in India?

Wﬁqmwﬁﬁqmauﬁﬁﬁwgézﬁ?

1) In 1913
1913 &
2)gln 1947
1947 &
3) In 1951
19513
4) In 1931
1931 &

8.Agriculture is not a part of marketing.

Y fagurer &1 351 & B



1) Integrating agricultural produce.

Y 3UST Y TleheT |

2) Certification of agricultural produce.
HY 3YST I FHTONHIT|

3) Use of good quality food by the farmers.
3T TohEd & Wiehleall T FH¥hHI GaRT ITANT|

4) To bring agricultural produce to the market.

aﬁr 39T T AvSIdh qgulaﬂl

9.Disguised unemployed in the agricultural sector of India exists due to the

HRA & PV & H Teoee] SRUSHIR & FRUT HAlGE §

19 dependence of agriculture on monsoons
ATEA T H & AeRar

2) abolition of zamindari
STHIGR 3eetet

3) heavy pressure of population on land
A W ATEET T HRY gard

4) all of them
3o FT &l

10.Which type of unemployment is found India?
T H fFg gR T SRR 918 St 87

1) structural unemployment
TIATCHS SRISTATRT

2) seasonal unemployment
HiFAT SUSERY

3) Disguise unemployment.
HCHIT ST |

Lg All of the above
IoerdT ol



11)What type of unemployment is found in agriculture sector of India?
AR & PV &7 # fhd JopR &I SUSERT q1$ ST 872

1) Disguised unemployment.
Teteel ST |

2) Voluntary unemployment
o SUSERT

3) frictional unemployment
EIGREICAC RSN

@ None of the above
3WFd H F Pl el

12. What is not a one of the major cause of income inequality in India?

HRTT H 31T AT bl TH THE HROT T 7761 672
(1)Unequal distribution of land

$A 1 I AT faIeROT
(2) Lack of fertile land

39S A 1 3T

(3)Gap between rich and poor
AR R TN F =T 3T
(®) Increase in population.
13. Which of the following is an indicator of poverty in India?

Prfaf@a # @ Fia s & e w1 qEF 2

(DIncome level



3T hl FAX

(2) Iliteracy level

37freTr 1 TR

(3) Employment level

TSI T TAX

(4) Al®of these.

I T

14. Which one of these is not a cause of poverty in India?

g T et HRA A I T HROT 7E 82

(1)Low level of economic development

3T AT &1 oo TR

(2) Migrgtion of people from rural to urban India

TTHOT F T ARG H AN T Jarq

(3) Income inequalities

3T AHATAAT

(4) Unequal distribution of land.
§113 =T 31HAT faaTor

15)Who is considered as poor?

T R AT ST 2
(1)Landlords

et



Q2) Landless labourer
TN A

(3) A rich farmer

Ueh 3R fhareT

(4) Businessman.
GESIE]

16)When did the Government present Kisan Credit Card Scheme?

TIHR o frareT wfze F12 a1 Fa 9 A2

1) April 1853

31T 1853
2) August 1998

3ITET 1998
3) July 1991

SIS 1991

4) November 1995
SAdeX 1995

17)When was the new agricultural policy established?

o7 R <Ay o wenRrer a7 o

1) July 2000

SelTS 2000

b) March 2002

AR 2002
3) ®larch 2004

AT 2004
4) January 2004



SieTadr 2004

18)Which of the following industries is not a heavy industry.

fAFATaT@d A & SleT |1 3cTTeT A 3T LT B

(1) Cotton textile
©

SIce CFACISA
(2) Cement

di#He
(3) Iron and Steel

3TRRA TS Térdl
(4) Ship building

R fafesar

19)The first cotton mill of India was set up in

R T UGl ShicaT Tl T TATIAT
(1) Ahmedabad

3gHCIdIg
(A Kolkata

reThrdl
(3) Mumbai

GiCH
(4) Coimbatore
EIRC [y

20) The backbone of Indian economy is
AR rfcaarer $r Jg §

1) Industry

Jegnar

2) .Agriculture



EaL]

C

3) Export
e

4) Services
Jarw

21) Which of the following is the implementing agency for National Agricultural
Insurance Scheme?

frrfaf@a & & sla odr R fiwr Ao F P FRaET b 72

1. Food Corporation of India

AR @ieg e

2. Commission for Agricultural Costs and Prices

Y deTd AR HoF 3mANT

3. fgricultural Insurance Company of India Limited

FR Seaitw Hoelt 3HTE SRaT RS

4. NABARD
ATETS
22)Consider the following statements and identify the right ones.
frfaf@a syt W RfER & 3k @ Al @ ggae |
i. The NAIS operates on the basis of area approach

NAIS &7 TfSeahivr & 3MYR 9 Farfad aar &

ii. It covers only the food crops
SHH hddl WIGT BHal h fFer forar amar g
1) I only

hadl |
2) ii only

*ae I
3) doth

arr
4). None




HIg &

23) Who developed the concept of disguised unemployment?
(1) John Keynes

(2) Amartya Sen
?3) John Robinson

(4) Alfred Marshall

24.Government separately formulated industrial policy for small scale industries in india

g 31 & T 376197 & TR o 3He@ e i a=rg|

1)1990 #

2)1991

3)1985 @

4)1980

25)When was the National Agricultural Cooperative Marketing Association established?
e $Y Fghry FAUUT FE B TG Hd g A

1)®965

2) 1958

3)1975

4)1961






